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Until they will both be equal — I 2T TR TY

OVERVIEW

[wR] (R°¥wIX) "2 derives from the 'P09 concerning an adulterous affair
which states o7°1w 03 1M (and they shall both die) that there is no 70 21°m
unless they are both equal. There is a dispute between *"w2 and N1BOIN as to
what this excludes.

— MVPN HY NAN YT VYD PYNY 33 DIVIPN YO
»"w9 explained that 7w 271w 17" means that they both have to be of
punishable age, this excludes a (male) adult who had relationship with a

(female) minor. In this case there is no death penalty for the male, since the female
minor is not liable for punishment; they are therefore not equal.

mooIn disagrees:
— 1102 NY I (3,1 97 1) 1DNT NEI P93 135 NNT NI XD

And this is incorrect; for we learnt in a mwn» in 3217 X2 ?99 which the

X713 will shortly cite -
— 919 1HN 01 DY ’) Na

‘A three year old girl, etc.’ -
— 175 DY 125199 NN MINNIND HIYN D) NN 7Y N2 ON 9N NP

And the mwn concludes, ‘and if one of the n19y which are mentioned in
the 770 has relations with her, they will be put to death on account of

their relationship with her’.
— N PUNY N3 INY NIOPT 2 YY N 390 NIVPH HY AN 9ITNT YN

This indicates that if an adult is X2 on a minor he is liable for the death
penalty, even though the /11up is not punishable. This contradicts >"ws.

mooIn offers a possible solution for *"wA and rejects it:
— N0 7dalad) NOYUIN 2291N 199 19N 2293 NINN ONNT NINNT OIVUY91D U

And others explain that the 712 there in 771 is according to 3n1° 'S who
argues with 7wx> 'v. However this answer is awkward.

133,20 (x¥n) o7

24nr ' derives from the (72,25 [X¥n] 0127) P00 which state 172% 7Y 20w WK WX N that there is no
requirement of 0w oI 1w 7Y. Therefore a mIvPa 2¥ K27 7173 is 00 2.

? This is amended to read wx.

* It may be a pm7 to assume that wX> ' is arguing on a 71w ono (and his dissention is not mentioned). See
n"n1 who explains that our X713 concludes that the 1127 follow 011 " and therefore °27 would follow "
e, It is difficult to assume that the 73wn in 771 (which *27 was 770n) follows only 01 .
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mooin offers his interpretation of 0™ 2w W TV:
— PNX NN ON2NY PPV 7Y YW 0N 1NN

And the n''9 explains this phrase to mean unless they are both liable for

the same death penalty -
— NN NOIN PYUNY 223 IND)

And their receiving the death penalty is not dependent on whether they are

both of a punishable age; their age is irrelevant -
—*NYVDA DMV DN ON 29N MIVPN YY XA YY1 199N)

For even a 9173 who is mwpi Yv X2 is 7n°» 291 if they both have the same
death penalty.

mdoIn explains what is meant by nnx an°»2:
—OINRND NIYI 22D (30 97 pr7mo) TN 77 P92 9INT IIND 2297 NINTINN IND)

And this (ruling of PAX 72 oW 1Y) is referencing the ruling of »''4

who stated in nin2 '7 795 concerning a betrothed maiden ° -
— YIYUNI NIVP IIAN NIV DIVMIN DINONY 7113\9‘,7 NDY 19¥) 920 ONN 297
Where 2''9 maintains that it is only by a 707%»7 792 but not by a mup

70MK%a, and the 2251 maintain that 791 includes even a mwP; he will
receive n2°p0 even is the 701X is a mivp. The XA continues:

— 9712 R 2399 AOINRND NIV 5Y X3 291 NN 92 2PYS 529 17939 NYA)
NaX 92 2py° "M asked 29 what is the ruling according to »'9 if he
committed adultery with a 709IR%:7 773UP. When 2" ruled that if she is a 71vp he

excluded from the rule of 770717 77v1 did he mean that -
— x5 panm Har 1Y vy 19PN X nY 10NN Py

He is completely excluded from punishment or that he is only excluded
from 11%°p0 but not from Pim. The x»3 continues:

— 1Y VYNN SINI9T XIANON BNN ZnND)
And says there; ‘logic dictates that he is completely exempt’ from

punishment -
— 29N PIN DAX NY LYNN NYIPON TNYT RPUD INY

5 1If her punishment [had she been a 72173] would be the same as his, then he is 0> 27m.

® The 770 writes (39-23,25 [X&xn] @°127) that if one commits adultery with a 707»7 771 (not a IXW1) they
both receive 77°p0. (The punishment for adultery with a axwa is pan.)

" 1" maintains that the 72°po 77 (for the man) by a noR»I 771 is only if she is a 77v1 but not if she is a
m1vp (the woman will not receive any punishment since she is a 710p).

¥ In our texts in 1°77710 it reads XTX.

? The man will not receive any punishment at all (since she is not a 77w3).

' Others amend this and all the following 7% to read .

""He will receive the 231 punishment (as if he committed adultery with a nx1w1).

"2 moon is actually paraphrasing the X there.
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For if you will maintain that he is exempt (only) from 7%°po, but he is

241 29971, then there will be a difficulty -
=PIV 0NNV YA N

for there is the requirement that they both be equal’. This concludes the
dialogue in the X7 n3. Now moo1n will explain why the X723 rejects the idea that he is 271
I (on account of PW 7°3w 11va &Y. The phrase W 0771w —

— Bavsnpa 75192 ANYN ORY AN DN M

Means that both (the man and the woman) must be liable for the same
death penalty, and if he receives 117 it is not the same as her penalty, for if

she were an adult she would have received 79°p0. Therefore we cannot punish him
with pan. mwR> " teaches us that (according to »"9) 70RA 7IVP O KT 1S M2 WL,

According to M0N0 the W7 of AN MR W PWw 7V is limited to the case of H¥ Xan
7IVP A07INAA 771 (according to n'"), as opposed to *"w7d that it is a general rule that

both man and woman are required to be adults. N1901n supports his view:
— NAN 93 2Py’ 229 0NN YT NN NT WIVPID

And according to this explanation (of the n"9) it is understood that the
query of X''2%9:
— Y19 N 2395 NOMNNN MIVP Yy Na

‘What is the ruling according to »''1 by 78787 730p Yy 82, is -
— NN PV PIINT DIVN N NIV NDIINI NPT

Specifically asked only concerning an 17919R since the man and the woman

are not equal in their death penalty (he receives pin and she 79po) -
— D3N3 INNSM 7Y IamY XYY ANIVIL YN

However if he committed adultery with a R 71vp, there is no query, for
his penalty is par7 -

— NNNRY PIY DNNIYI PINA ) NN NPT NN ON)
And if she were an adult she would also receive pin, and they both are

equal in their death penalty. This proves the validity of n"1 ws.
— ANIVIAN 29V NDIIND 1Y SWa31 INBN AUP C0NPN WYY Yan

" The woman in this case is exempt from punishment because she is a mvp. However there is a death
penalty from which she is exempt. That penalty (if not for her exemption of being a 771v) would have been
72°p0. Therefore we cannot administer i to the man, for his death penalty (1) would not be the same as
hers (77°p0). See ‘Thinking it over’ # 1.

' Theoretically X"2 could have asked by a 7avp AXW1 ¥ X271 7173 is he completely v (just as his query
by an mvp 701K where possibly he is completely 7109, presumably because of an° 1w ox 1nmM1) or is he 21
1, just as by 71vp 701K where he is possibly pin 21 (presumably because of 1727 31 nn).

15 According to *"w"5 (who maintains that we derive from 1w o3 1nm, that if she is a m10p he is WD) the
two sides of the query are; whether we assume W 27°3w 7°w 7V (and he will be 3% Mwo), or we follow
the view of 1727 and he will be a1 211 This same question can apply by a mvp IRW.
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However according to >'"w=p there is a difficulty, why did he ask this
query concerning an 77919R rather than a axw1?!

mooIn offers an answer on behalf of >"w9s:
— ¥qy097 7Y RVIWS NNIVIA 2509 DAY 0 INNT 113 UMY Y 1751)

However one can say that since the P109 of 2w a3 \nm») is written by a

N it is obvious to X'"2°7 that he is 91WD, for by a mxw1 it must be P 7w -
— INT PHYT XPYDT 1199 NP NDIIN NIVPA YaN

His query was only by an 170198 for we may have thought that he is 2%n
P11, since by an 71017 there is no 109 of QW 03 NAI -
— 9909 NYN ) DTN ITPONT 912195 IV DY POV 1Y 9N

And X"21 concluded that even by an 719p 7719198 he is also =2 for the w7
of 91 2779w 1 TV applies even to an 701X; he is therefore Mwd -

— PUNY 22 DINY 29D
Because both are not punishable; she is a mvp.

mooIn has a difficulty (with his answer for "w7°9):
— NP INNN PINA 29NT 9ONN 2397 XNDN *P9re x9N 0NN XIINT num

And there is a difficulty; for there are 2’871X there (in 7777710) that
derive the ruling of »'9 that he is P 291 (if she is an 71VP 7017X) from
this following 210D -

— 9725 NNIY 259V YN YINND MY 29NIT
As it is written, ‘and (only) the man who lied with her, shall die alone;

indicating that even if she is a 7710p and cannot be punished nevertheless he receives par -
— 199 Pay NN TN, %295 BNV DI 1NN INN PN 1295 DN FYI)

And the X723 queries there according to 2''% what will he derive from

this m105 of ams1w ax 1M, This concludes the citation from the X na.
— ;PYW97 nnIvia P9 swa SN

And what is the question! Let him establish the P05 of 271w 03 101 by a

R, as I previously explained; that by a 7aup axwi he is Mo since she is a mvp
and by X1 the 7710 clearly states o7°1w O3 NMY!

N1B0IN answers:
— (3,70 47 A1) JOYT REIT PIINN IDPING PINTY O NIy 799 KM%t 9195 W

' See “Thinking it over’ # 2.

17 This is the view of YXmw (and 27).

' The w"wA deletes the words 1%

" This question is only according to *"w1 who requires that they both be w1y *12. However according to
mooIn by a 7wp AW he will definitely be pim nn i 270, since she also would have been par na™mn.
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And one can say that they prefer to establish, albeit with difficulty, the

mawn of 1217 RXY P79 ([brought in our X773 on the bottom of this T7y] which states
that if someone is VP %Y X2 they are 77> %Y PN) -

7N 295 1929N
even according to »''% who maintains that by a mwp 701X there is no 72°p,
nevertheless he will agree that by a 730p AXW1 %Y X327 2173 he is 7n°n 2.

SUMMARY

According to *"wA the ruling of 7n°m2 W oW YW 7Y, means that they
have to be w1 "12. Therefore if a 2173 is 7IVPR ¥ X2 there is no 7N 27N
(and the mwn of 1917 XXM is according to NI 'M). MBOIN maintains that this
ruling refers only to a 791K 7vp ¥ X2 according to 2" that he is Mwd from
m2°p0. If we maintain 7n°»2 W 21w 17w 7Y, then he is a2 M.

THINKING IT OVER

1. A 1vp does not receive punishment for any violation.”” Does this mean that
despite his violation there is no accountability at all (since he is a jup), or
that he is accountable, however we cannot carry out the punishment since he
is a minor?*

2. mooIn concludes that we wish to establish the 71wn of 1917 XX like »n'"9
(that by a axw1 he is P11 2°1). Previously”* mooin stated that by axwi it was
Xowo (to X"2) that he is "> 7wo. How can we reconcile this
contradiction?!®

3. Md0IN maintains that the w7 of 702 W 1Y 7V on the 7109 of 23 M
271w is limited to the case of a 707IRA mIvp ¥ X277 173, It seems odd that this
108 which refers only to a 7107I1%» should be written by a AXWw1 (where it
does not apply)!

20 Others delete the word Xi1n» or amend it to X35.

*! The awn in 773 is a 7wn ono and the rule is that 71wn oo is 2. If 1" would interpret 071w 03 N by a
TR VPR DY 827 217 that he is Mvo it would be in direct contradiction to the 7iwn ang.

22 See footnote # 13.

» See oXw 7"%2 7"72 "M

* See footnote # 16.

» See X217 782 71"72 1"
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